re = 0,2+0,4 mm
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/ b = width of the housing with the O-Ring
b1 = width of the housing with one anti-extrusion ring and the O-Ring
b b2 = width of the housing with two anti-extrusion rings and the O-Ring
0 - Ring Section ds (mm) 1,80 2,65 3,55 5,30 7,00
+0,08 + 0,09 +0,10 +0,13 +0,15
Housing depth t (mm) 1,40 2,20 2,90 45 59
Deformation of the O - Rings (mm) 0,26 to 0,58 0,26 to 0,64 0,4 to 0,85 0,57t0 1,08 | 0,80to 1,35
15 to 31 10to 23 11to 23
Deformation of the O - Rings (%) 11to0 20 11t019
Housing depth b (mm) 24to 2,6 36t03,8 4,810 5,0 72to74 9,6t09,8
b1 with one anti-extrusion ring (mm)
35t03,7 4,7 to 4,9 581t06,0 8,7t0 89 12,0t0 12,2
b2 with two anti-extrusion rings (mm) 4,610 4,38 5,810 6,0 6,81t07,0 10210 10,4 | 14410 14,6
Radius ri (mm)
0,2t0 0,4 0,2to 04 04t00,8 04t00,8 0,4t00,8




